F Rk 26% 3A 19H
INERNERREERES

' B 1
1 ER25FEEMRAEXIER I —BHER(2554A~2645F1H)
XE@AICHEERBHOTHRELEHNLLTEBLEL, SSRBZI,
gun | goezom | dit—u | EEEE | as

& AERER 479 2,946 6,327 7,786 5,754 23,292
& BERNER & & 479 2,946 6,327 7,786 5,754 23,292
NILVTH—E R 1 14 1 16 18 50
B |[#BY—EX 6 34 13 85 58 196
¥ |[EERE 5 8 0 18 15 46
# |fetAA 7 0 0 7 9 23
T | RRBER ARRRIRT L 1 2 0 41 2 46
e BT OXBESE 0 6 0 3 2 11
A |EHmERTFYEE 31 177 193 280 202 883
ZTOMBEIIXEY—ERE 2 16 3 29 14 64
2 MY —EX 6 60 131 151 61 409
sl # EEHY—EX 88 1,442 5,261 4,300 3,514 14,605
gﬁ HE BB B —E R 1 2 9 7 0 19
By BREEEDHEMR 57 503 274 357 877 2,068
T3 N HFPIHEE 100 70 141 280 173 764
NV — P e 30 63 147 106 112 458
x| = Hh sk fR HEAE FI PERE 8 6 0 23 9 46
7 |RERRGIE 21 16 16 59 36 148
2 [BEEES 9 2 6 47 12 76
T HEEER 4 1 1 13 6 25
=15 2 5 0 19 0 26
REMR - BRERIG 13 30 20 115 13 191
z |TTRHRTTISLDHEH 2 4 16 521 149 692
o |EREF 32 194 57 651 305 1,239
® [ER®ERCET 8% 5 38 18 189 8 258
fth 1| D B % 6 93 1 260 41 401
LR LS DFEER 42 160 19 209 118 548
NERIRPFEER | 41] 365| 609 548| 632| 2,195|
TIEZBESTISURIRGE 504 1,913 2,708 2,330 2,376 9,831
; BEXETTISUERMHR 65 468 547 609 768 2,457
5 a &t 569 2,381 3,255 2,939 3,144 12,288
BB TISMERERBEER 55 194 439 303 366 1,357

BIEW - BTN T T IROAVNEE (BT 7 IR v—IZxLT)
7T e RE - BRI EE - HEER 23 6 14 10 22 75
R#EH~DIEEME 7 22 11 9 11 60
Y—ERELERE-T—RARE 12 5 6 11 3 37
st 7o | 1B A7 —RFRET 1 3 4 13 6 27
BB [ 1o 20 28 1 51 1 5 0 0 1 7




2 24 EMBOEXEL A —FERE(24F4A~255%1A)

gun | goezom | dit—u | EEEE | as
HIRE 268 2,782 5,965 4,901 5074 18,990
HEKNEREET 268 2,782 5,965 4,901 5074 18,990
ANILVTH—ER 0 20 2 13 13 48
B |[#BY—EX 0 47 16 58 40 161
;Ef FEHE 4 5 11 30 26 76
# |fBitHE 3 0 0 7 3 13
*l’“ REABB- AKREVRTLA 0 0 3 8 0 11
e |BLO>ZHRESTE 0 3 0 4 1 8
A |EEERSFYEE 6 98 176 190 146 616
ZTOMBENTEY—ERSE 1 15 2 29 18 65
2 MY —EX 16 38 173 118 67 412
s = HEY—ER 49 1,547 5,096 1,656 3,080 11,428
gﬁ HE BB B —E R 0 1 12 9 0 22
B FREEE DM 50 433 195 328 788 1,794
T3 N HFPIHEE 29 71 103 337 228 768
PI|E 0 — R 0 3 6 3 2 14
| Mgt AEF HEEE 0 0 4 53 4 61
A |BERRGIE 27 14 8 41 16 106
2 [BEEES 11 5 3 18 6 43
T EEERER 2 0 1 6 1 10
=8 3 2 0 7 3 15
REMR - REXG 4 40 32 91 27 194
z |TTRHRTTISLDHEH 4 8 25 482 127 646
o |EEBF 23 240 65 435 276 1,039
t LERERCETE% 19 34 13 115 9 190
Hh i E D AR ER 3 31 6 121 38 199
LEE LIS DFEER 14 127 13 742 155 1,051
| NERIRPFEER 21] 367| 503| 448 545| 1,884]
TIEXEST7TISURRG 252 1,814 2,656 2,195 1,914 8,831
; BEXETSTISVUETHH 45 393 488 428 612 1,966
5 & Hi 297 2,207 3,144 2,623 2,526 10,797
BB TISMERERBEER 39 177 447 229 320 1,212

BIEN - BGENT T IR AV NEBE (MBOS7IRTr—I2xLT)

T TS AR E - [ B $5E - R K 11 0 2 9 21 43
H#EEF~DIEEEE 12 15 1 1 10 39
Y—ERBLUERE - T—RAKE 6 7 2 4 4 23




3 ER2sEERERYMIRGERIEL 42— FHRER554A~265%F11)

g A EXEE 2—D#REREE

MNEMEFEMBEEXEE F—ERE 22
NP EEXR RS —ERE 10
NEHBFEHNXESFERS (LUK

0
‘ =Rttt 7
e EETT 5
{R12EM - B FEED 6
7T75 i AIEEL 2 —HBETHE 2
|  NEXESFMATRE 5
ithidi 7 T 0
=i Zm 2
B EIEE - HABERAERFRT VN 1
Z Dt 3 NERBEEHESE
a&t 63
ERLDEH
EIE3'
Rk T I A ’E?EODJE# - 1
EEEREEREREERER 1
ZDih 4 EFESETHETahE2E LS ELNRMENEER G ER2E
= 6
NEFHRTFIRID T+ 7 ERARSE
=%
ERHERE 6
EHRUHE-XRE 19
BT — A3 G (450
" R
H BB | Hox0m| Mik—n| ZEEE NERESE| F0M
EH# 184 0 18 37 49 47 33
BREE 7 — R G (D30
MR
i BE e 33 BhfE | EAREREE
- EEEFNT ALY 426 55 52 52 267
i EEXE T A — G 214 44 23 52 95
a&t 640 99 75 104 362
REETr— A=
T e
BB | Hoz0m| /Mik—n| ZEEE TR
EIE- 19 1 9 12 13
BEtEH 19 35




